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1. BEFEHIA
OZWMRE-ALE
ZMaE 0 0 0
QFmEFE
DURCOLGES 0 0 0
HEHEERR I TAMEES 1,100,000 1,400,000 300,000
QzmaiEsE
SGaEE 340,000 77,018 -262,982
@3 IR
A A 200 764 564
FETHURAG 1,440,200 1,477,782 37,582
2. BEFEHIH
O3+
RBIEE 80,000 0 -80,000
BER 100,000 331,390 231,390
HERE 3,000 0 -3,000
=& 10,000 102,500 92,500
ENmI& 2,000 0 -2,000
Aok & 0 0 0
b. EEIBIER R ROV TANERE
HIEER 300,000 407,550 107,550
ElE 400,000 287,727 -112,273
REE 70,000 151,000 81,000
S5E 15,000 24,541 9,541
BESE 150,000 165,000 15,000
Bl 315,000 204,500 -110,500
BIEMHE 35,000 34,886 -114
FERER 0 26,378 -26,378
E= 30,000 1,523
BIEE 3,000 1,230 -1,770
HE 10,000 7,475
QEEE
HERE 2,000 0 -2,000
EamE 0 0 0
ARAR 0 0 0
BIEE 78,000 70,382 -7618
FHe 1,000 12,240 11,240
BEFEIHE 1,604,000 1,828,322 224,322
EXFETNZESE -163,800 -350,540 -186,740
I. HEEHINZDOE
BEFEUNAG - - -
BEEBIHE - - -
BEFHINKTELE - - -
II. BAFEBIR DA
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